3.R2 Review (Fall 2019)-f19p

October 18, 2019

Are there any Homework Questions you would like to see on the board?
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p. 182

2. Determine the maximum or minimum of each

function. occurs of ‘/’/Q W
a) f(x) =x*—2x— 35

3. Determine the zeros and the maximum or
minimum value for each function.
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p-182 4. The function /(¢) = 1 + 4r — 1.86+* models
the height of a rock thrown upward on the planet
Mars, where /() is height in metres and
#is time in seconds. Use a graph to determine
a) the maximum height the rock reaches \Y
b) how long the rock will be above the surface
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p.182 7. A firecracker is fired from the ground. The

height of the firecracker at a given time is fﬂ:{ l\ ({ ) ~
modelled by the function A(#) = — 5¢2 + 504,

where /(#) is the height in metres and #is time L L/ 3-: —S f Q | S 0 ’Zf
in seconds. When will the firecracker reach a

height of 45 m?
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p. 183 8. The population of a city, P(#), is given by the
function P(#) = 14¢% + 8207 + 42 000, where
tis time in years. Note: t = 0 corresponds to the
year 2000.

a)  When will the population reach 56 224?

Provide your reasoning. [§)>
b) What will the population be in 2035?
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p. 184 5. Solve by graphing.
a) x2+6x—3=-3

y=x>+6x-3 y=-3
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p. 184 5. Solve by graphing.
b) 2x2—5x=7

y=2x"—5x y=17
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p.184 7. The population of a town, P(¢), is modelled by the function
P(z) = 6¢* + 110¢ + 3000, where #is time in years. Note: t = 0
represents the year 2000.

a) When will the population reach 6000?
b) What will the population be in 2030?

a) Set PUE) =000 (- b) £=30
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MCF 3MI

Unit 3 - REVIEW 2
Solving Quadratic Equations by Graphing (Lesson 3_3)

Lesson 3_R2

vue: Ot (& /17

Ex. 1 Determine the solutions to the quadratic equation x> —12x +37 = 5 by graphing.
[Keep in mind we are looking for the values of x that satisfy this equation.]

Method 1 split the equation and graph the related functions on the same grid.
¥, =x>—12x+37 Y, =5
The solutions to the original equation) are the x values of the points of intersection of the two functions.
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Method 2 rearranged the equation and set it equal to zero.
Then graph the related quadratic function to determine the solutions to the quadratic equation.
The solutions to the original equation are the x-intercepts of the new function.
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2a) Sketch f(x)=(x-2)" -7
Y oa
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3a) Sketch f'(x)=(x—4)(x+2)

Y

October 18, 2019

b) Write f(x)=(x— 2)2 —7 in standard form.

¢) Can f(x)= x" —4x—3 be written in factored form?

b) Sketchg(x)=3(x—-5)(x-7)
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